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The flgures ln the m.argln lndlcate
.full marks for the questlons.

Answer ang flve q[uestions.

1. (t) What are the general design
considerations of a plant design. 5

'T'ood processing sector is different from
other processing industries"- Justiff
the staternent. 5

What is a feasibility survey ? Explain
in detail including all the items to be

considered in the sulvey. 10

(it)

(iit)
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2. (t) What factors do you consider for design
ind construction of a building for a
food plant ? 8

(it) What general guidelines you need to
follow for locating a food processing
industry ? 10

ftiA What are the basis of design of
equipments for fluid flow ? 2

3. (t) What is a plant layout ? What are the
objectives of any effective plant layout ?

7

(it)

(iit)

List out the various advantages of
effective plant layou!. 5

How many Wpes of Plant laYout are
available ? Describe stating their
advantages and disadvantages if any ?

8

of a product life cycle
5

(t)4. Draw the figure
and explain it.

fiA 'The life cycle of most of the food
products is very shorl' - What are the
reasons for this ? 7

(iil What are the basic objective in the

development of a successful process

route ? 8
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(it)

(iit)

Choose the correct answer : lx$
(a) There is a continuous need I

periodic need for R and D and
diversions in a food Processing
sector.

(b) Life . cycle of product is hardly in
the range 5-6 Aears I 3-4 Aears,

(c) The building height should be
atleast 2m aboue I 2Om aboue the
height of the tallest equiPment in
the building.

(d.) Extrusion I Ertractionts a forming
operations.

(e) It is advisable to locate I not to
locate the food Plants in Places
where the labour union activitis
are vibrant.

What queries do you rise for making
an economic analysis of a Product ?

6

What is a breakeven analysis ? Explain
it with a proper diagram. 9

5x26. 0 Write short notes :

(a) Fixed CaPital

(b) Working CaPital
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7.

fr,i) 
. Whaj i: ,depreciation ? What are the

methodd of calculating the
'aA

,,dgprgciation ? 2+8

L,raw a plant layout for any food processing
plant. Explain the arrangement and the
dircction of the process plant rout€. 20
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